EARAROBEEIERT — 2 N— IBISH —F

20185108270 (£) 10EIEER1H

2ot v55—#

‘ [Rfg] 2 ‘ [FEERR] — | 4 (E) 1600M =

[A~&E£] 1 7% :350,000 W ~ 23&:81,000H ~ 3#&:4500 M  43%:32,000H ~ 5i&:17,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. HMRE :38. - . — IR (B%RE)

11111 74 ) Za— K % 3 e 1(3_8)7 2-1 37.5 1 (3?2) iy
L:xrinfo— BRUTCXAT A BB
9 LA EA :39. — . — REILES] (B%ME)

2 3 Ev4—"4F— 4 5 e 1(349)4 6-2 37.9 6 (4:359) Eéﬁ‘i?f
RV IFTIAL R BRAT4THE—U> EILE3:

7 = 4 5 | $KHA 1:39.6 6-3 37.8| — 4 454 | /NERETE (R%M)
317|8|7H#LITFT—2R 56.0 (1 1/4) 4o | EEE
¥ ov¥/x€x BT7Y-—NF BRiAYS
TN 4t 5 | WOB— 1:39.8 6-3 38.0| — 8 434 | EEFE (KR)

4 4 L—J KT 54.0 (1 1/2) “+2) I’ZHI;E ’
R:TFyIa4K BeTRIRYU—L4 TFBHIS
2 WV 44 | ARIBE 1:39.8 9-6 37.7| — 7 412 | FEER (KR

5/8/9|3IF¥Y¥7T 54.0 (1) Rk
LA bhk—L B:Ea—-F14—LF1 iz el

SIS £ 3| BRE 1:40.3 3-3 38.9 — 2 447 | WERAD (BER)

617 7 =) —7— g 56.0 (3) (-6) AOHA
R:Gr—3IUT7> B:F1T1> (B) #HAEA-FKL—Ya>AET7
= S e A £ 8 | BERRRE 1:40.5 9-9 38.4| — 9 504 | FEF= (BER)

ZH 6| ZNIRIN—4 ~8 | TR s s A
LiErs/07Oq4 BI7HAFIVHCR HETr—L

o= 46 | WAESEE 1:41.0 4-7 39.3| — 5 483 | IVKERE (KR)
8|55 LNZ1— 56.0 3) (+5) BEEET ’
LA Lk—L B:xA1T¥ LTI F& R4S
. B4 | KHFIE 1:42.9 4-10 03| - 10 | 468 |t (EER)
9|8l10| FvIAV—/ 54.0 (549 o |EEEZ
RAM=3>FFR—L B:ZY /= 2= FH5
s —sa AHERE 144, B . = TERZE (BRRE)

10 2| 7ALANG—T> s %53.0 (19{?;) e e ’ (‘ﬁ;‘) IMEFEAR
RIAY>TTyva BiA-—HARIA ZNAE—FRF—T I

® 1—F—@EBIERL

13—7-—

2a=5"=

33—+— |2,1,7,(5,10),(3,4,8),(6,9)

43—+— |1,3,(4,7,8),9,5,2,6,10

[ N5

B 1 1004 714K 1-3 470M e E 1-3 1,1508 JEE 1-3-8 2,210/

B B 1 110H 1-8 280M B = 1-3 920M EE 1-3-8 5,460

3 290M 3-8 1,490H B H 1-3 1,090
8 210

ABICOVWTRDTEEERROODE. TR LIV,




